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Nonadiabatic, 1.506 A, 15 fs

Sym. Str. —
Antisym. Str. —
Bending —

0.0

0.4 F

-0.8

log1oD3

1.2 F

-16

50 100 150 200

x(R) ~ Time (fs)

x(R) ~
02 @)i0d0dodoooooooDoooo@)ooooooog bs0ooooon

000000000000000000000000000000000000000000
00000000000000000000000000000[1]0000000000000
00 Ds(t) = X8 2[(u(t) — ¢ (0)|Pilou(t) — ¢ @)2 00000 20 00000 ¢, O gy O
D00000D000000000F =/, dRRYR|000000MOOO00 4,000000
00000S=TrP0000000000000000000000000000 100000
000MO000000 ps000000000000000000000000000000
00000000000000000000

—~
Q
R=
—~
O
~

Pump FWHM 40 fs

0.016 0.020
Pump Energy (cm™)
2700

Pump Energy 25000 cm™

Pump FWHM (fs)
60

0.012

25000 —

0.015 | 50 —
40 —

30 —

20000 —
17000 —

0.008 |- 0.010

0.004

0.005

Excited State Population
Excited State Population

0.000 0.000

100 0 100 200 300 100 0 100 200 300
Time (fs) Time (fs)

03:000000000000000 (@bo0O0000dmoooooooo

g30bgpogoboooooboboooooobobobobobDobooobobobUobD O
gbbogbboobudoboobboobuobbobobooboobboobodao

oobo0o300ooooooooboooboo0oboUooOobOoOOobOoUoDoOUDooDo
goboobbooobooobooobooobooobooobboobboobbooon
[Rl0OO0C0cOoO00000oooooOoCocoOoOoDOOCOOO00OOoOoOoDOOOOOOOOoOooOooD

[1] H. Higuchi and K. Takatsuka, Phys. Rev6E, 035203 (2002).
[2] Y. Arasaki, K. Takatsuka, K. Wang, and V. McKoy, J. Chem. PHyk9, 7913 (2003).



